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Question Number : 1 Question Id : 953357163701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct about principles of child development?

Options :

1. Development occurs from central part of the body toward peripheries.

2. Development is not influenced by heredity and environment.

3. Development in one domain doesn't have any influence on development in other domains.

4. Development is purely quantitative and can be measured precisely.

Question Number : 1 Question Id : 953357163701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357163702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Language development among children gets influenced by -

Options :

1. genetics only.

2. environment only.

3. genetics as well as environment.

4. neither genetics nor environment.

Question Number : 2 Question Id : 953357163702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357163703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A progressive classroom -

Options :

1. gives primacy to silent listening only.

2. respects individual differences among learners.

3. is marks - oriented.

4. is based on behaviouristic principles of learning.

Question Number : 3 Question Id : 953357163703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357163704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lawrence kohlberg's theory of moral development "Obeying rules to avoid punishment" represents -

Options :

1. Pre- conventional stage

2. Formal operational stage

3. Conventional stage

4. Post conventional stage

Question Number : 4 Question Id : 953357163704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357163705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to facilitate the learning process, a teacher should use strategies which emphasise on :

Options :

1. the progression of concept from complex to simple.

2. the primacy of convergent thinking.

3. exploring the relationships between different concepts.

4. creating competitive culture among students.

Question Number : 5 Question Id : 953357163705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357163706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's theory mainly focuses on explaining :

Options :

1. the impact of heredity on development.

2. the role of cultural tools in cognitive development.

3. the bio ecological model of socialisation.

4. the impact of attribution pattern on motivation.

Question Number : 6 Question Id : 953357163706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357163707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During a discussion on "Cricket", a teacher is posing questions mostly to boys and not to girls. This act of teacher is an example of :
Options :

1. Gender Empowerment

2. Gender bias

3. Gender relevance

4. Gender threat

Question Number : 7 Question Id : 953357163707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357163708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In a child-centered classroom, a teacher gives importance to -
Options :

1. frequent objective type examinations.

2. active knowledge construction process.

3. completion of syllabus in whatever way possible.

4. strict disciplinary practices based on punishment.

Question Number : 8 Question Id : 953357163708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357163709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is primary agent of socialisation for children?

Options :

1. Books and magazines

2. Immediate family

3. Parent's work place

4. Staff at hospital

Question Number : 9 Question Id : 953357163709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357163710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Concrete operational stage in Jean Piaget's theory of cognitive development corresponds to the age group -

Options :

1. Birth 0 - 2 years



2.2 -7 years
3.7-11 years
4. Above 11 years

Question Number : 10 Question Id : 953357163710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357163711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are a teacher who believes that "children learn at varied paces and in different ways". In your class, you will plan assessment which :
Options :

1. is same for all students.

2. includes objective type questions only.

3. is not related to how children learn.

4. is based on different methods of assessment.

Question Number : 11 Question Id : 953357163711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357163712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per Lev Vygotsky's theory which of the following is an effective strategy of scaffolding the teaching - learning process?

Options :

1. Providing rigid step-by step instructions to solve problems.

2. Punishing the children for incorrect answers.

3. Giving hints and cues if children are stuck at some point while solving the problem.

4. Complete non- interference of teacher in the process.



Question Number : 12 Question Id : 953357163712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357163713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about intelligence?

Options :

1. Intelligence can be measured only through Intelligence quotient (IQ) tests.

2. Genetics play no role in creating individual differences in intelligence.

3. High intelligence is one domain ensures high intelligence in other domains also.

4. Intelligence is more than the ability to perform well in school.

Question Number : 13 Question Id : 953357163713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fotferfias sy 5 & SiEwaT o o 5 % H-aT e T
Options :
1 FrGHAT 1 FT G- TN FTT ET HTAT ST Tt 2

, g%aﬂ'rwﬁrcqf%md EICEIEIR:] aﬁﬁmﬁﬁéuﬁmﬂﬁ?ﬁl
. U &7 W I G, 3 & 7 Wi 3= gt gt Fat o

) g feremer o SEe wa e o T ¥ A

Question Number : 14 Question Id : 953357163714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Seeing a horse, a three year old child exclaimed. "Wow! Such a big dog". As per Jean Piaget's theory of cognitive development , this
response by child is an example of :

Options :

1. assimilation.

2. make-believe.

3. object - permanence.
4. deferred imitation.



Question Number : 14 Question Id : 953357163714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357163715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's ideas Language and thought suggest that -

Options :

1. language guides cognitive development.

2. cognitive development guides language.

3. there is no relation between language and cognition.

4. cognition is independent of language.

Question Number : 15 Question Id : 953357163715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357163716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Creativity among children can be facilitated :

Options :

1. by encouraging exploration.

2. through teacher - centric pedagogy.

3. by drill and repetition.

4. through imitation only.

Question Number : 16 Question Id : 953357163716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357163717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dyscalculia is directly associated with :

Options :

1. locomotor disability.

2. fluency in understanding other's motives.

3. musical ability.

4. difficulty in learning of mathematical concepts.

Question Number : 17 Question Id : 953357163717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357163718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Right to Education Act (2009) has a provision of Reservation of seats in Privates schools for admission of students from Economically
weaker section (EWS). In order to successfully these students a, a teacher should use pedagogy based on -

Options :

1. discrimination.
2. segregation.

3. equity.

4. equality.

Question Number : 18 Question Id : 953357163718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357163719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an inclusive classroom, information should be presented in :

Options :

1. textual form only.

2. visual form only.

3. verbal form only.

4. multiple forms.

Question Number : 19 Question Id : 953357163719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357163720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to contemporary polices of Education, which of the following is the most suggested model of schooling for children with
disabilities?

Options :

1. Only vocational education

2. Inclusive education

3. Separate education

4. Integrated Education

Question Number : 20 Question Id : 953357163720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357163721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not correct about the learning process?

Options :

1. Learning is a continuous process.

2. Error and mistakes are irrelevant in the process of learning.

3. Learning is based on personal and environmental factors.

4. Learning takes place in a spiral manner and not in linear manner.

Question Number : 21 Question Id : 953357163721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357163722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Repeatedly telling the child that ' he/she is not capable of learning ' is likely to -

Options :

1. demotivate the child to learn.

2. fasten the pace of learning for child.

3. motivate the child to learn.

4. have no effect on child's learning.

Question Number : 22 Question Id : 953357163722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357163723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Problem - solving skills can be enhanced by :

Options :

1. fixating on conventional use of materials.

2. representing problems in standardised format.

3. considering alternative ways of solution.

4. rote memorisation.

Question Number : 23 Question Id : 953357163723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357163724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To teach a concept to students in primary grades, which of the following sequence of representation of content is most appropriate?
Options :

1. symbols, pictures, concrete materials.

2. pictures, symbols, concrete materials.

3. symbols, concrete materials, pictures.

4. concrete materials, pictures, symbols.

Question Number : 24 Question Id : 953357163724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357163725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Classroom environment has a significant on children's learning. To inculcate a culture of mastery oriented learning (learning that focuses
on understanding) , learning, classroom environment should be :

Options :

1. Performance oriented.

2. competitive and individualistic.
3. teacher dominated.

4. cooperative and collaborative.

Question Number : 25 Question Id : 953357163725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357163726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct statement in content of learning?

Options :

1. Examination is the ultimate goal of learning.

2. Learning is a passive process and it doesn't require engagement of learners.

3. Emotions have no influence on the process of learning.

4. Learning is a complex process which requires active engagement of learners.

Question Number : 26 Question Id : 953357163726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357163727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Socio-Constructivist view of learning emphasise on the importance of in process of learning.

Options :

1. interactions

2. rewards and Punishments

3. heredity only

4. inflexible pedagogical approaches

Question Number : 27 Question Id : 953357163727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357163728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of influencer and source of motivation?

Options :

1. Self - fulfilment — Extrinsic motivation

2. Curiosity — intrinsic motivation

3. Cash prize — intrinsic motivation

4. Interest — extrinsic motivation

Question Number : 28 Question Id : 953357163728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

77 5 9 F9-91 7, e IR AR = 5w ' § e g

Options :

| SATH-TTATST — STer SAhren
, Torme — arifeer stfammrom
N TR TR — SR ST

, T — STar SRR



Question Number : 29 Question Id : 953357163729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To facilitate conceptual understanding among students , a teacher should :

Options :

1. encourage students to learn through rote memorisation.

2. not include examples and non-examples in the discussion of concepts.

3. provide opportunities to make connections between what has been presented and what they know already.

4. rely only on lecture method for teaching.

Question Number : 29 Question Id : 953357163729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357163730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following factors influence learning ?

(i) Motivation
(ii) Social content
(iii) Emotions

(iv) Pedagogical approaches
Options :
L (©),(iD), (iv)
2. (1),(iii), (iv)
3. (ii),(iii)
4. (i),(ii), (iii), (iv)
Question Number : 30 Question Id : 953357163730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357163731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The rate list of groceries in a shop are depicted as follows:

Rice (1KG) %70
Black gram (1KG) %90
Wheat Flour (1KG) %45
Coriander powder (250g) 40
Chilli Powder (250g) %60
Salt (1 Pkt) X25
Biscuit (1 Pkt) 20

Ashish needs to buy 5kg of rice, 5kg of wheat flour, 250g of coriander powder, 250g of chilli powder, 2kg of black gram
and some packets of biscuit with remaining money. If he is having 1000, how many biscuit packets can be buy?

Options :
1. 8

2, &

4. 10

Question Number : 31 Question Id : 953357163731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 8

Question Number : 32 Question Id : 953357163732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
¢ | am atwo digit number.
e The digit at ten's place is multiple of 2 and digit at units place is multiple of 3.
* The sum of the two digit is a prime number which is a factor of 52.
The number is
Options :
1. 69

7. 46
3. 49

4. 83

Question Number : 32 Question Id : 953357163732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1,69

2. 4B
3, 49

4. 83

Question Number : 33 Question Id : 953357163733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The rates of hiring a rental car are as follows:

% 800 per 8hours up to 80 km

% 100 per extra hour and %10 per extra km.

Sunil travels from city A to B which is 250 km. He starts at 7:00 am and reaches at 4:00 pm on the same day
How much money he has to pay?

Options :
1 %2,500

, 2,600
5 2,700

4 $2,400

Question Number : 33 Question Id : 953357163733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teh &R H #A15 W o & T ae & g e §

80 km T & ©¢ & foiv 2800

gict #fafaa a=¢ & v 2100 3R 9fd sfafed km F f@T 210

Geftel =7 250 km & THL A ¥ B U6 oo [haT| 367 Gag 7:00 9ol TEUT o HR 3801 G 91 4:00 o7 G Tgd 9101 39 fehefer
ufer &= &2

Options :

1. %2500

2. 2600

Question Number : 34 Question Id : 953357163734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is at the third place when numbers are arranged in descending order?
9.09, 9.009, 9.990, 9.909, 9.099

Options :
1. 9.990

5 9.099
3 9.909
4 9.090

Question Number : 34 Question Id : 953357163734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FlG! & # ohaieyd we W Hroi@a # § S99 e del T W e

5.09, 9.008, 5.950, 9.909, 9.099
Options :



1. 9.990
2. 9.099
3. 9.909

4. 9.090

Question Number : 35 Question Id : 953357163735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a four digit number, the digit at hundreds place is 0, the digit at tens place is twice that of units place whereas, the
digit at thousands place is thrice that of units place. If the digit at units place is 2, what is the number?

Options :
1. 4062

» 6024
3 6042

4. 4602

Question Number : 35 Question Id : 953357163735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tk TN 3R bl e # g T W0, EE15 & TR W 3 SHI5 & TUM W I3 O g & SlElh guNd ¥ W 3% SIS &
TUA W 3 W AT &) TEm &= ge

Options :

1. 4082

) 6024
3. 6042

4 4602

Question Number : 36 Question Id : 953357163736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sum of two digit number and the number formed by reversing its digits is equal to 88.
How many of such numbers are there in which tens digit is greater than units digit?
Options :
1.5

Question Number : 36 Question Id : 953357163736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Teh G 3iehl dlell T AN 54 3ol T Uelee] UX a@=il T&AT o1 AT 88 & Tl fha=r G&a §, [=9 2gi5 & 3 5% & 3id
st 52

Options :
1.2

Question Number : 37 Question Id : 953357163737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A rectangle of sides 8cm and 10cm is divided into four equal rectangles.
What is the perimeter of each small rectangle?

Options :

1. 36cm

2. 9¢cm
3. 18 cm
4. 20cm

Question Number : 37 Question Id : 953357163737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SHAL N 10{AL HAHT arel Th HAT P 9R TAM Hhdl A [asioid far 7121 1 9deh BIC 340 &1 9T &1 G
Options :
1. 36T,

o, 9%AL
3. 183

4, 20304,

Question Number : 38 Question Id : 953357163738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true?
Options :
1A prime number when added to another prime number always gives a prime number

5 Aprime number when multiplied by another prime number always gives a prime number

3. Prime numbers do not have factors



4 There are infinitely many prime numbers

Question Number : 38 Question Id : 953357163738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafof@a & ¥ Fla-9 72 9 &

Options :
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Question Number : 39 Question Id : 953357163739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number which divides 88 and 160 leaving remainders 3 and 7 respectively is:
Options :
1. 13

7. 17
3. 21

4. 28

Question Number : 39 Question Id : 953357163739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g g fogd 28 3 160 = Tuleg == W 99%e &9 3 3R 7 3, B i
Options :
1. 13

2. 17
3,021

4. 28

Question Number : 40 Question Id : 953357163740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Malini has only 22 and %5 coins with her. If the total number of coins she has is 36 and the amount of money with her
is 105, then the number of 2 and %5 coins with her are:

Options :
1 26 and 10 respectively

) 25 and 11 respectively



3 21 and 15 respectively

4 24 and 12 respectively

Question Number : 40 Question Id : 953357163740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AferAT & U Faer 22 R 5 F e §1 Al 39F g gl 6 For TEar 36 3K TMT 2105 § o 12 AR 25 & gt $r g
B

Options :

1. @ 26 3R 10

o, BAU: 25 3R 11
3 &AL 21 AW 15

4, HHL 24 3 12

Question Number : 41 Question Id : 953357163741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Evaluate 14.5%x3+18+3-3x12.5?
Options :
1. 6

7 12
3. 56

4 615

Question Number : 41 Question Id : 953357163741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A1 AT HifAT:
14,5x3+18+3-3x12.5
Options :

1.8

2. 12
3, 56

4, 615

Question Number : 42 Question Id : 953357163742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One-sixth of the trees in a garden are jamun trees, half of the trees are Eucalyptus trees and the remaining are peepal
trees.

If the number of jamun trees is 6, how many peepal tree are there in the garden?



Options :
1. 36

7. 12

Question Number : 42 Question Id : 953357163742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U G & gall A S & gail $f TEaT U Sedl 1T §, I e Jehfoadd & 3R ardht 9iaer & gaf §1 afg S & gal &
& 6 &, o anr #F due ¥ e aa 82

Options :

1. 36

2. 12

3, 18

Question Number : 43 Question Id : 953357163743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1St zﬂd

A train leaves Vishakhapatnam, on the 1°* September, 2019 at 04:48 hours and reaches its destination on

September at 17:37 hours.

The total travel time of the train is
Options :

1. 30 hours 37 minutes

> 36 hours 37 minutes
3. 36 hours 49 minutes

4. 38 hours 12 minutes

Question Number : 43 Question Id : 953357163743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ueh Yerems! faum@desA & 1 fiaFat 2019 T Gag 04:48 I GEAH A & AR 30 aaey W 2 awar &1 17:37 &= ggad &
$H YedsT T AT T FHe HAT b

Options :
1. 30 9t 37 A=e

2. 36 €& 37 AT
3. 36 B¢ 49 A=

4, 38 €€ 12 &=e



Question Number : 44 Question Id : 953357163744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following have the lengths been arranged in increasing order?
Options :
1 5500 cm 50 mm, 500 dm 30cm, 55000 mm, 50 m

2 50 m, 5500 cm 50 mm, 55000 mm, 500 dm 30 cm
3 55000 mm, 500 dm 30 cm, 5500 cm 50 mm, 50 m

4. 50 m, 500 dm 30 cm, 55000 mm, 5500cm 50 mm

Question Number : 44 Question Id : 953357163744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fAefaf@d & § S5 ofarsdl & 9ed oA 7 caafeyd &ar a3 &2
Options :
1. 55008.#. 50 mm, 500dm 30¥AL, 55000 mm, 50 m

5 90m, 5500 A 50 mm, 55000 mm, 500 dm 30 .4
3. 55000 mm, 500 dm 30 #.#T., 5500 &.#"., 50 mm, 50 m

4 50m, 500 dm 30%AL, 55000 mm, 5500 WAL, 50 mm

Question Number : 45 Question Id : 953357163745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 270cm long wire is formed into a rectangle. If the width of this rectangle is 50cm, what is its length?
Options :
1. 60cm

2. 75¢cm
3. 85cm
4. 90 cm

Question Number : 45 Question Id : 953357163745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 270 QAL @&l dR & U HEd & &9 8 §1 3fe 50 3aa & disg so @A §, O SHS eds #7452
Options :
|, 60TAT
5. 75 WAL

3. 85%LAL



4, SOTAT

Question Number : 46 Question Id : 953357163746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When asked to write 35, some students of grade Il wrote as 305. As a teacher, how will you address this problem
Options :
1. By telling them that it is wrong and asking them to find correct answer

5 By writing the correct answer on the black board
3 By asking them to write correct answer ten times in their notebooks

4. By explaining the principle of exchange through concrete material

Question Number : 46 Question Id : 953357163746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e 11 & ot 51 30 foEs & 57 o7 707 af $© & 300 Tan 3aE F w7 § 39 56§ gEiE w7
Options :
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Question Number : 47 Question Id : 953357163747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which aspect/aspects of mapping are present in the primary mathematics curriculum?

(A) Map interpretation

(B) Unscaled drawing

(C) Using symbols

(D) Drawing as per scale

Options :

L ACD

, ABC
; BCD
4 AB,D

Question Number : 47 Question Id : 953357163747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



fUTd & gufde gredeH # gidfEeT @REe) & i § gge fdege &7
(8) AT FT 7R

(B) TaaT YA arer Her@

(C) Hehdl (cirenl) T G

(D) YHRET & TR erg ie

Options :
1. A,CD

2. AB.C
3 BCD

4. G DA

Question Number : 48 Question Id : 953357163748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following topics are not part of the primary school Mathematics curriculum as per NCF 20057
Options :
_ Integers

—_

> Tessellations
3. Estimation

.WmmmW

N

Question Number : 48 Question Id : 953357163748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSR TS T4l 2005 F HgaR FEeiad & § S § ey aruffAe Hegredt # aivid aeawa #1 A 960 8
Options :
1,

p, Hs (@msferm

5 HEAE T

4_33%%

Question Number : 49 Question Id : 953357163749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Beads can be used to explain which of the following concepts?
Options :
1 Number sense, fractions, patterns

5 Fractions, place value, volume

3 Number sense, patterns, volume



4 Number sense, tessellations place value

Question Number : 49 Question Id : 953357163749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hielehl ol G HAeAtoii@d H & fohel HIURONHT & TS & ToC fohan o1 Hehll &7

Options :

1. -ﬁm E!T‘?_T, mo_-rr, Qﬁ—\qq

o Toe, TEE AE, AEE
3, TEAT &y, 9iaEd, HEaE

4 TEn &, gias (zrsfeer), TurEE A

Question Number : 50 Question Id : 953357163750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is/are true? Boys are better than girls in problem solving

(B) Children coming from rural background find mathematics difficult-

(C) Teacher's beliefs impact learner's performance in mathematics

Options :

1. A

4 AandB

Question Number : 50 Question Id : 953357163750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o # 4 &9 9@/ Fu 981 &7

(A) THEDT GATA #H of5eh, osiddl ¥ 8w 3199 §

(B) AT TSEHH F I aTer gl I AT HoA T

(c) 3e=mas & Rt &1 R aiftlg diee a6t & ugd=E g B

Options :

1. A

4 A3RE

Question Number : 51 Question Id : 953357163751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is most appropriate strategy to teach data collection and interpretation to primary class
students.

Options :

1 Providing lot of practise questions

5 Asking students to conduct survey
3 Conducting quiz in classroom

4 Conducting group discussion in class

Question Number : 51 Question Id : 953357163751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

wrefAs &all & TaeaTEl &1 sl & GguT IR 3iea tem & fov Meafaf@a & ¥ &= & a9 3 &2
Options :
|, ¥ & folU & AR 99 3gered] T

, Tacanfdat & wdaror 1 qaeE FRaE
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. Faf ¥ dEfod o= (fFeR fed) @ Samee s

Question Number : 52 Question Id : 953357163752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student tells that the shape of a samosa in triangle. He is at which stage of geometrical thinking as per Van Hiele's
level

Options :

1. Visualization

5 Analysis
3. Establishing Relationship

4. Axiomatics

Question Number : 52 Question Id : 953357163752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

v facamlt Fwar & g9 & eR B S §) a8 SfAd fQdes F 39 819 (van Hiele) ¥ HIOR RE TaU W &7
Options :
1. 0



Question Number : 53 Question Id : 953357163753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may be considered a feature of a constructivist mathematics classroom?
Options :
1 Memorizations of mathematical definitions is accorded high value

5 The teacher focuses only on the right answers
3 Students’ errors are considered an important source of information

4 Interaction among students is discouraged

Question Number : 53 Question Id : 953357163753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TrRfEa § 9 50 Sadacas ((@-1a)) 0T FaTT ST TR0 AT o Tehdl 57
Options :
|, TOTERT ORETIST # FETy F F Ied A g
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Question Number : 54 Question Id : 953357163754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true in the context of nature of mathematics?
Options :
| Mathematics involves study of patterns and relationships

5 Mathematics is limited to study of numbers

3. Mathematics involves abstraction and visualisation

4. Mathematics connects to the real world

Question Number : 54 Question Id : 953357163754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT ¥ TORT F W A Mg A sl arad B
Options :
| T # it 3R Hael B gers wieated Bl
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Question Number : 55 Question Id : 953357163755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may NOT be associated with the development of special understanding among children?
Options :
1 Calculating the distance between different cities on the map of India.

5 Imaging what a piece of paper would look like if it is folded along given lines.
3 Giving directions to reach their house from the school.

4 Matching the top-view of a pencil with its side view.

Question Number : 55 Question Id : 953357163755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

F=ff@a & ¥ o fagfiet & Bfew (fGemum) 99s & aeRa &6 & v dead: 3ugea 70 &2
Options :
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Question Number : 56 Question Id : 953357163756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of teaching area- measurement of plane figures?
Options :
1 Students should be given a chance to 'discover' the various formulae

5 Use of formula for area-measurement should be taught before estimation of areas
3 Grid paper can be a useful device for introducing and implementing the formal units of measurement

4 Tessellations with regular shapes can be useful for teaching area-measurement

Question Number : 56 Question Id : 953357163756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAGA HSEAl F aFAGA H AU & e # el # § HlF @1 Fua w6 A &
Options :
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Question Number : 57 Question Id : 953357163757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from among the following.
Options :

The volume of a cardboard box is 480m?>. If its length and breadth area 10m and 8m respectively, What would its
1. height be?

2.
The breadth of cardboard box is four-fifths of its length and the height is three-fourths of its breadth. If the volume of

the box is 48[}m3, find its length, breadth and height

3 The area of a rectangular field is given to be 480m<, What can its length and breadth be?

4 How many rectangular plots of area 480m? can be accommodated in a larger field of area 3360m?2?

Question Number : 57 Question Id : 953357163757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SF=tleliad # ¥ #Hod Y arer ye &I UEH=L:
Options :
| U e & fSsd & IEGA 480m? §) MG sHH arg R st HHA: 10m IR 8m B, & gEH TS @ gl
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, T 5 3360m’ Ay Wa & 480m’ &G AT oo HRIGIAR STES AT T 67

Question Number : 58 Question Id : 953357163758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of hierarchy of Mathematical concepts?
Options :
1. Multiplication builds on the concept of addition

5 Division builds on the concept of subtraction

3 Integers build on the concept of natural numbers



4 Fractions build on the concept of decimals

Question Number : 58 Question Id : 953357163758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 953357163759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|dentify a desirable practice for teaching fractions at primary level
Options :
1 Everyday conceptions of fraction should not be allowed to interfere with classroom teaching

5 Only halves and quarters should be introduced at primary level
3 The concept of fractions should be demonstrated in multiple situations

4 Numerator and denominator should be emphasised as separate numbers

Question Number : 59 Question Id : 953357163759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

yrf@e T W &4 & 92 & v dean Gamag & 9gar=e)
Options :
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Question Number : 60 Question Id : 953357163760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT desirable with regard to assessment in mathematics at primary level?
Options :
1 Emphasis should be on assessing conceptual understanding



5 Aunique test pattern should be consistently followed

3. Assessment should be sensitive to the context of students

4 Itis important to challenge all children according to their mathematical taste

Question Number : 60 Question Id : 953357163760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TUEF TR W AT & Hhed § 999 § FEaidd § § =T aisard J8 67
Options :
| HIEUROIS T §A F Hhod W Aged fedm =T F1fpwd

, U fawaror qliam 9fcwT F1 81 FHr FET AT

5, eIl & weel & 9fd 3o o1 Ffagagselier g eyl

4 g5 HEegs® b fob @l awal &1 3ot aifvidi i & s ==idt & sy

Environmental Studies

Section Id : 9533575685
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9533579865
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 953357163761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which one of the following parts of our country most of the people grow tapioca and coconut in their own courtyard and using these
they prepare their tasty food?

Options :

1. Kerala

2. Goa

3. Assam

4. Andhra Pradesh

Question Number : 61 Question Id : 953357163761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. e
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Question Number : 62 Question Id : 953357163762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The name of a particular species of birds whose male bird makes many beautiful nests and the female bird selects one nest to lay her eggs
is

Options :

1. Indian Robin

2. Sunbird

3. Tailor bird

4. Weaver bird

Question Number : 62 Question Id : 953357163762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

-
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Question Number : 63 Question Id : 953357163763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Your house is located at X and your father's shop is located at Y. Although your father's shop is just opposite but you cannot go straight
because of a deep canal in between, therefore, you first go 200m due south, then 150m long bridge which is due east and finally reach at
your father's shop which is 200m due north. With respect to Y, the minimum distance of your house and it's direction respectively are:

Options :

1. 150 m due west
2. 150 m due east

3. 350 m due west
4. 550 m south-west

Question Number : 63 Question Id : 953357163763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

L 150 m S Utgm =

, 150 ma%n":g:?ﬁ

3 350 m @R utge F

4 550 m 31 Stgurutae 5

Question Number : 64 Question Id : 953357163764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A doctor has suggested to a person to eat daily the green leafy vegetables, amla and jaggery (Gur) along with medicines. This person must
be patient who is suffering from

Options :
1. Anaemia
2. fever

3. malaria
4. typhoid

Question Number : 64 Question Id : 953357163764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 953357163765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bronze is an alloy whose main constituents are

Options :

1. lead and tin

2. copper and tin

3. copper and zinc

4. Aluminium, copper and tin

Question Number : 65 Question Id : 953357163765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357163766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements about the world famous pashmina.

(A) A pashmina showl is as warm as six sweaters.
(B) The goats from which the soft pashmina wool is collected are found on very high mountains of 5000 m.
(C) A coat of warm hair grows on the goat's body which protects it from extreme cold.

(D) The fine hair after cutting from the goat’s body are woven on machines.

The correct statement(s) is/are
Options :

1. only B

2. only D

3.A,Cand D

4. A,Band C

Question Number : 66 Question Id : 953357163766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357163767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which year a thousand people died in the earthquake that struck in Bhuj (Gujarat)?

Options :

1.2000

2.2001

3.2002

4.2004

Question Number : 67 Question Id : 953357163767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

L. 2000

5 2001
3 2002

4 2004

Question Number : 68 Question Id : 953357163768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

With respect to the location of the capital of our country, the capital of the Himachal Pradesh (Shimla) and the capital of the Madhya
Pradesh (Bhopal) are located (respectively) in the

Options :

1. north and south

2. south-east and north-west

3. south-west and north-west
4. north-east and north-west

Question Number : 68 Question Id : 953357163768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357163769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A person living in Shimla (Himachal Pradesh) wants to first visit Bhopal (Madhya Pradesh) and then Gandhinagar (Gujarat). The direction
of his journey will be first towards



Options :

1. south east and then towards west
2. south west and then towards east
3. south and then towards west

4. south and then towards east

Question Number : 69 Question Id : 953357163769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357163770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The state/Union Territory of our country which has a coast on the Arabian Sea is

Options :

1. Andhra Pradesh

2. Karnataka

3. Puducherry

4. West Bengal

Question Number : 70 Question Id : 953357163770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357163771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A special kind of dance named 'Cheraw' is performed by the people of

Options :

1. Assam



2. Mizoram
3. Odisha
4. Jharkhand

Question Number : 71 Question Id : 953357163771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :

Question Number : 72 Question Id : 953357163772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of India, if you draw a straight line AB from Kolkata (capital of West Bengal which is point A) to Puducherry (which is point
B), then the direction of the point A with respect to the point B would be

Options :

1. due south
2. due west
3. south west
4. north-east

Question Number : 72 Question Id : 953357163772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357163773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the female athlete who started weight lifting at the age of 12 years, succeeded in lifting weight of 130 kg and won 29 medals in
international events

Options :

1. Sunita Williams
2. Wahida Prism
3. Bachhendri Pal



4. Karnam Malleshwari

Question Number : 73 Question Id : 953357163773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357163774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A tourist boarded a train on 10" November 2021 from Ernakulam Town to Vadodara. The train departed from Ernakulam Town at 22:40

hours and reached Vadodara at 14:10 hours on 12" November 2021. If the distance between the railway stations of the two cities is 1896
km, the average speed of the trains during the journey of the tourist was

Options :

1. 96 km/h
2. 72 km/h
3. 48 km/h
4.36 km/h

Question Number : 74 Question Id : 953357163774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toreft Ui = TR 219 | S W % AU 10 TER 2021 F1 2 § WEwT R 39 w7 6 22:40
o =T A 12 TefoR 2021 F 14:10 51 T TE=H| FfE 37 I €L 35 o1l T o Sft= 1 G 1896KM E,
T THEF T AT % WET 3 T A =T o

Options :

1. 96 km/hr

2. 72 km/hr
3 48 km/hr

4. 36 km/hr

Question Number : 75 Question Id : 953357163775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A group of spices whose every member is grown in Kerala is

Options :

1. Black pepper, turmeric, tejpatta

2. Tejpatta, black pepper, cardamom

3. Zeera (cumin seed), red-chilli, tejpatta



4. Zeera (cumin seed), black pepper, cardamom

Question Number : 75 Question Id : 953357163775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357163776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In relation to EVS, the child looks at his environment

Options :

1. into its segregated form.

2. in a holistic manner.

3. in its simple form.

4. into its theme form.

Question Number : 76 Question Id : 953357163776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357163777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Curriculum of EVS has been designed

Options :

1. on topics.

2. on syllabus

3. on themes

4. on topics and syllabus both

Question Number : 77 Question Id : 953357163777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357163778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NCF-2005 views EVS in classes I1I to V as a subject which integrates the concepts and issues of

Options :

1. science and social science

2. science, social science, language and mathematics

3. science, social science and environmental education

4. science, social science and languages

Question Number : 78 Question Id : 953357163778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357163779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following challenge/s may be faced by the EVS teacher in his/her EVS class?

A. Multicultural dimensions of his/her class
B. Feeling of each and every student
C. Everyone's community, culture and way of life

D. Class room discipline and it's management
Options :

1. A and D only

2. Band D only



3. Cand D only
4. A, B and C only

Question Number : 79 Question Id : 953357163779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357163780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of teaching EVS at primary stage is to

Options :

1. develop descriptions and definitions of the various concepts of EVS

2. provide lot of space to students to explore his/her environment

3. facilitate students to learn the concepts of EVS

4. encourage students to learn EVS through concrete informations shared by the teacher

Question Number : 80 Question Id : 953357163780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357163781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Family and friends in EVS curriculum is

Options :

1. theme



2. subtheme
3. topic
4. syllabus

Question Number : 81 Question Id : 953357163781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357163782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meaningful EVS learning can only be made possible if

Options :

1. student's local experiences are related to school experiences.

2. school knowledge is used in the construction of knowledge

3. student's local experiences are not given due importance

4. trained EVS teacher's experiences are used.

Question Number : 82 Question Id : 953357163782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357163783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the learning of EVS, activities conducted by the teachers should be followed by for authentic and meaningful learning.
Options :

1. discussion

2. listing of activities

3. learning the steps of activities

4. recapitulation of the activities



Question Number : 83 Question Id : 953357163783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357163784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning through group activities is performed in EVS classes because

Options :

1. it provides peer learning

2. it improves social interactions among students

3. it provides and improves peers and social learning among students

4. students only demand group learning

Question Number : 84 Question Id : 953357163784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357163785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following indicates skills process in learning of EVS?

Options :

1. classification

2. description

3. statement

4. recall

Question Number : 85 Question Id : 953357163785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Traferfas & & 797§ 37 U9, 3 ST § UiHaT FI9Te Fi e ST 29

Options :

Question Number : 86 Question Id : 953357163786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of promoting parent's and community's participation in the learning of EVS by students is to
Options :

1. provide an opportunity to teachers to know the student's socio-cultural background.

2. follow the recommendation of national policies.

3. maintain discipline in the school.

4. know the students and guide them in the learning of students.

Question Number : 86 Question Id : 953357163786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357163787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The challenges and issues in EVS class at primary level can be very well addressed by

Options :

1. lecture and discussion

2. free debate

3. lecture and demonstration

4. debate followed by discussion

Question Number : 87 Question Id : 953357163787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS T W S R, e o TR o o At st e T St e gw e s w2
Options :
| =TeET e = famet



ﬂ?ﬁaﬁﬁﬁﬁ

2
5, ST T S

4. o= faet % o T e

Question Number : 88 Question Id : 953357163788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Qualitative assessment of children's learning in EVS can be done by

A. Record of children's ideas, observation reports
B. Observation of process skills
C. Paper-Pencil tests

D. Achievement tests
Options :

1. A and B only

2. Cand D only

3. A,Band D only
4. A, B and C only

Question Number : 88 Question Id : 953357163788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357163789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is a formative assessment tool in EVS?

A. Portfolio
B. Anecdotal record

C. Rating scale



D. Observation and recording
Options :

I.LA,B&C

2.A,B&D

3.A,C,&D

4.A,B,C&D

Question Number : 89 Question Id : 953357163789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357163790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Drawing pictures of animals using fingers and thumb prints”
X Y

In the above line, identify (X) and (Y).

(A) Xis verb and Y is noun

(B) X is action verb and Y is content

(C) X is cognitive process and Y is content

(D) X is content and Y is verb.

Options :

1. B, Cand D.

2.A,Band C

3.B,Cand D

4. A,Cand D

Question Number : 90 Question Id : 953357163790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Numbers : (91 to 99)
Question Label : Comprehension



Directions: Read the passage given below and answer the
questions that follow by choosing correct / most appropriate
options:

The total forest cover of Himachal Pradesh increased nearly
by 25 percent and by more than 1000 percent in Lahaul and Spiti
district between 1991 and 2015 due to plantations initiatives,
according to an analysis report by the State Centre on Climate
Change.

Out of a total geographical area of 55, 673 square kilometres,
the state has recorded a forest cover of 27.72 percent (15,433.52
square kilometres), according to The State of Forest Report
(ISFR), a biennial publication of the Forest Survey of India,
released last month.

It is said that ‘dense forest cover’ in Kinnaur decreased from.
565 sq. km to 344 sq. km during this period, a decrease of 39
percent. Hamirpur, Kullu, Shimla and Sirmaur districts also
witnessed a declining trend in the dense forest cover. On the other
hand, it increased from zero to 47 sq. kms in Lauhaul and Spiti
and from 164 to 459 sq. km in Solan, while other districts also
saw an increasing trend.

Except Una and Kangra districts, the State witnessed an
increasing trend of ‘open forest cover’ with Lahaul and Spiti
registering an increase of 770 percent. The total area under scrubs
in the State has decreased substantially since 1995 from 1,845 sq
kms, the report said.

It further said that as per FSI's data, some of the forest area in
Una district was found to be highly vulnerable to forest fires
while a substantial area of different forest classes in Sirmaur and
Solan districts was also found to be moderately vulnerable to fires
due to preponderance of Chir Pine forests in those areas.

The report also said that various broad- leaved species of trees,
which are used to produce a tinier quality of fuel and fodder, are
facing a decline in area due to “anthropogenic pressure of the
forest fringe communities™

Sub questions

Question Number : 91 Question Id : 953357163792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ISFR report is published
1) every three months.
2) every six months.
3) every nine months.
4) every twenty four months.
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357163793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Plantation activities in the entire state of Himachal Pradesh
have shown a
1. downward trend.
2. rising trend.
3. mixed trend.
4. anuneven trend.
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357163794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements:
A. The forest cover in Lahaul and Spiti decreased by 39
percent.
B. The forest cover in Kullu increased by 40 percent.
C. The forest cover in Lahaul and Spiti increased by less
than 800 percent.
D. A part of Una district was highly vulnerable to forest
fires.

A s false and B is true.
B is false and C is true.
C is false and D is true.
. Both A and D are false.
Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 94 Question Id : 953357163795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements
A. A few areas in Sirmaur district were found
vulnerable to forest fires.
B. Some areas of Solan district were found vulnerable to
forest fires.
A is true and B is false.
B is true and A is false.
Both A and B are false
. Both A and B are true
Options :
1.1
2.2
3.3
4.4

W

e

Question Number : 95 Question Id : 953357163796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is not true according as the
passage?
The total geographical area of Himachal Pradesh is
1. not more than 55,558 sq. km,
2. not less than 60,000 sq. km,
3. more than 54,900 sq. km.
4. Is neither less nor more than 55,673 sq. km.,
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357163797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words has the same meaning as the

word ‘tremendous’ used in the passage?
1. immense

exact

vibrant

. constant

Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 97 Question Id : 953357163798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words is the antonym of

‘inappropriate’ as used in the passage?
1. misappropriate

disproportionate

approximate

. suitable

Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 98 Question Id : 953357163799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the phrase

‘continuously putting pressure * in the passage?
1. Verb

Adjective

Adverb
4. Noun

Options :

1.1

2.2

3.3

4.4

w1



Question Number : 99 Question Id : 953357163800 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?
It will rain tomorrow, I shall not come

(a) (b)
to meet you in the club.
{c) (d)
1. (d)
2. (b)
3. (e
4. (a)
Options :
1.1
2.2
3.3
4.4

Question Id : 953357163791 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension



Directions: Read the passage given below and answer the
questions that follow by choosing correct / most appropriate
options:

The total forest cover of Himachal Pradesh increased nearly
by 25 percent and by more than 1000 percent in Lahaul and Spiti
district between 1991 and 2015 due to plantations initiatives,
according to an analysis report by the State Centre on Climate
Change.

Out of a total geographical area of 55, 673 square kilometres,
the state has recorded a forest cover of 27.72 percent (15,433.52
square kilometres), according to The State of Forest Report
(ISFR), a biennial publication of the Forest Survey of India,
released last month.

It is said that ‘dense forest cover’ in Kinnaur decreased from.
565 sq. km to 344 sq. km during this period, a decrease of 39
percent. Hamirpur, Kullu, Shimla and Sirmaur districts also
witnessed a declining trend in the dense forest cover. On the other
hand, it increased from zero to 47 sq. kms in Lauhaul and Spiti
and from 164 to 459 sq. km in Solan, while other districts also
saw an increasing trend.

Except Una and Kangra districts, the State witnessed an
increasing trend of ‘open forest cover’ with Lahaul and Spiti
registering an increase of 770 percent. The total area under scrubs
in the State has decreased substantially since 1995 from 1,845 sq
kms, the report said.

It further said that as per FSI's data, some of the forest area in
Una district was found to be highly vulnerable to forest fires
while a substantial area of different forest classes in Sirmaur and
Solan districts was also found to be moderately vulnerable to fires
due to preponderance of Chir Pine forests in those areas.

The report also said that various broad- leaved species of trees,
which are used to produce a tinier quality of fuel and fodder, are
facing a decline in area due to “anthropogenic pressure of the
forest fringe communities™

Sub questions

Question Number : 91 Question Id : 953357163792 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ISFR report is published
1) every three months.
2) every six months.
3) every nine months.
4) every twenty four months.
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357163793 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Plantation activities in the entire state of Himachal Pradesh
have shown a
1. downward trend.
2. rising trend.
3. mixed trend.
4. anuneven trend.
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357163794 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements:
A. The forest cover in Lahaul and Spiti decreased by 39
percent.
B. The forest cover in Kullu increased by 40 percent.
C. The forest cover in Lahaul and Spiti increased by less
than 800 percent.
D. A part of Una district was highly vulnerable to forest
fires.

A s false and B is true.
B is false and C is true.
C is false and D is true.
. Both A and D are false.
Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 94 Question Id : 953357163795 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements
A. A few areas in Sirmaur district were found
vulnerable to forest fires.
B. Some areas of Solan district were found vulnerable to
forest fires.
A is true and B is false.
B is true and A is false.
Both A and B are false
. Both A and B are true
Options :
1.1
2.2
3.3
4.4

W

e

Question Number : 95 Question Id : 953357163796 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is not true according as the
passage?
The total geographical area of Himachal Pradesh is
1. not more than 55,558 sq. km,
2. not less than 60,000 sq. km,
3. more than 54,900 sq. km.
4. Is neither less nor more than 55,673 sq. km.,
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357163797 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following words has the same meaning as the
word ‘tremendous’ used in the passage?
l. immense
exact
vibrant
. constant
Options :
1.1
2.2
3.3
4.4

w1

e

Question Number : 97 Question Id : 953357163798 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words is the antonym of

‘inappropriate’ as used in the passage?
1. misappropriate

disproportionate

approximate

. suitable

Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 98 Question Id : 953357163799 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the phrase

‘continuously putting pressure * in the passage?
1. Verb

Adjective

Adverb
4. Noun

Options :

1.1

2.2

3.3

4.4

w1



Question Number : 99 Question Id : 953357163800 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which part of the following sentence contains an error?
It will rain tomorrow, I shall not come
(a) (b)

to meet you in the club.
(c) id)

(d)
(b)
(c)
(a)

W

e

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 9533579867
Question Shuffling Allowed : Yes

Question Id : 953357163801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the following poem and answer the questions that follow by
choosing the correct/most appropriate options:
Look To This Day

Look to this day
For it is life, the very life of life.
In its briefest course
Lie all the verities and realities of your existence
The bliss of growth,
The glory of action,
The splendour of achievement
Are but experiences of time.
For yesterday is but a dream
And tomorrow is only a vision;
And today well lived. makes
Yesterday a dream of happiness
And every tomorrow a vision of hope.
Look well therefore to this day;
Such is the salutation to this ever new dawn.
Sub questions

Question Number : 100 Question Id : 953357163802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poem is celebration of today because

unborn tomorrows forecast our future.

it is but a reflection of yesterday’s glory.

one is not suspended between the past and the future.

life lived in the present is neither a dream nor a

vision.

L N

bl



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357163803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poem highlights the significance of
I. dead yesterdays.
2. unborn tomorrows.
3. a meaningful connection between the past and the
future.
4. seizing the creative power of the present.
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357163804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word *verities™ as used in the poem means
. varieties
2. wvariations
3. waried

. Vveracities

Options :

1.1

2.2

3.3

4.4

e

Question Number : 103 Question Id : 953357163805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which figure of speech is used in the phrase “The very life

of life™?

1. Metonymy
2. Hyperbole
3. Simile

Metaphor

B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357163806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The overall tone of the poem is
I. cynical
2. dreamy
3. perplexing
4. realistic
Options :



1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357163807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which figure of speech has been used in the phrase

“tomorrow is only a vision™?
1. Epigram

. Personification

. Oxymoron
4. Metaphor

Options :

1.1

2.2

3.3

4.4

2
3

Question Id : 953357163801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the following poem and answer the questions that follow by
choosing the correct/most appropriate options:
Look To This Day

Look to this day
For it is life, the very life of life.
In its briefest course
Lie all the verities and realities of your existence
The bliss of growth,
The glory of action,
The splendour of achievement
Are but experiences of time.
For yesterday is but a dream
And tomorrow is only a vision;
And today well lived. makes
Yesterday a dream of happiness
And every tomorrow a vision of hope.
Look well therefore to this day;
Such is the salutation to this ever new daw.
Sub questions

Question Number : 100 Question Id : 953357163802 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The poem is celebration of today because
1. unborn tomorrows forecast our future.
it is but a reflection of vesterday’s glory.
one is not suspended between the past and the future.
life lived in the present is neither a dream nor a
vision.
Options :
1.1
2.2

w1

b



3.3
4.4

Question Number : 101 Question Id : 953357163803 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poem highlights the significance of
I. dead yesterdays.
2. unborn tomorrows.
3. a meaningful connection between the past and the
future.
4. seizing the creative power of the present.
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357163804 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The word *“verities™ as used in the poem means
1. varieties
2. variations
3. waried
. veracities
Options :
1.1
2.2
3.3
4.4

s

Question Number : 103 Question Id : 953357163805 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which figure of speech is used in the phrase “The very life
of life™?

1. Metonymy

2. Hyperbole

3. Simile
Metaphor

o

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357163806 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The overall tone of the poem is
I. cynical
2. dreamy
3. perplexing
4. realistic
Options :
1.1
2.2
3.3



4.4

Question Number : 105 Question Id : 953357163807 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which figure of speech has been used in the phrase
“tomorrow is only a vision™?

l. Epigram

2. Personification

3. Oxymoron
Metaphor

B

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 9533579868
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357163808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

All children are motivated by activities that are
1) planned by adult.
2) planned by children.
3) meaningful to them
4) meaningful to teachers.
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 953357163808 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

All children are motivated by activities that are
1) planned by adult.
2) planned by children.
3) meaningful to them
4) meaningful to teachers.
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357163809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At primary level the instructions for a language game or an activity should be given in
1) child’s home language or mother tongue.
2) second language or English.
3) the school language or state language.
4) the teacher’s language or medium of instruction.
Options :
1.1



2.2
3.3
4.4

Question Number : 107 Question Id : 953357163809 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At primary level the instructions for a language game or an activity should be given in
1) child’s home language or mother tongue.
2) second language or English.
3) the school language or state language.
4) the teacher’s language or medium of instruction.
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357163810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct with respect to the following sentence?
Rhymes. songs and chants are the ways for children to
1) internalise words and sentence structure
2) practise pronunciation.
3) learn grammar through the text.
4) extend vocabulary
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357163810 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct with respect to the following sentence?
Rhymes. songs and chants are the ways for children to
1) internalise words and sentence structure
2) practise pronunciation.
3) learn grammar through the text.
4) extend vocabulary
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357163811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher assesses children ...
1) to find out as to who the best language user in the class is.
2) to find the learning gaps of children.
3) to plan further to help children move forward in their learning.
4) to compare a child to his or her classmates
Options :
1.1



2.2
3.3
4.4

Question Number : 109 Question Id : 953357163811 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher assesses children ...
1) to find out as to who the best language user in the class is.
2) to find the learning gaps of children.
3) to plan further to help children move forward in their learning.
4) to compare a child to his or her classmates
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357163812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bilingual children often use words from one language while speaking the other. This is called

1) code-switching
2) code-mixing
3) multilingualism
4) competence level
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357163812 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bilingual children often use words from one language while speaking the other. This is called

1) code-switching
2) code-mixing
3) multilingualism
4) competence level
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357163813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Children begin their journey towards writing by making marks, these marks are called
1) drawing
2) scribbling
3) writing
4) invented spellings
Options :
1.1



2.2
3.3
4.4

Question Number : 111 Question Id : 953357163813 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children begin their journey towards writing by making marks, these marks are called
1) drawing
2) scribbling
3) writing
4) invented spellings
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357163814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following skills will help children to develop their handwriting later on?
1) Spreading clothes in an almirah
2) Spilling up something
3) Picking up sticks
4) Threading beads onto laces.
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357163814 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following skills will help children to develop their handwriting later on?
1) Spreading clothes in an almirah
2) Spilling up something
3) Picking up sticks
4) Threading beads onto laces.
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357163815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is most important about illustrations in a language text book?
1) Illustrations help to present language in unfamiliar and memorable contexts.
2) Illustrations help to match what learners feel and hear to what they see around.
3) Develop the visual literacy of the children

4) Appreciate the art and aesthetic sense of the illustrator and teacher.
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357163815 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is most important about illustrations in a language text book?
1) Illustrations help to present language in unfamiliar and memorable contexts.
2) Illustrations help to match what learners feel and hear to what they see around.
3) Develop the visual literacy of the children

4) Appreciate the art and aesthetic sense of the illustrator and teacher.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357163816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Stories encourage children to enjoy language learning and foster their
1) appreciation of literature.
2) forms of language
3) life skills.

4) kinaesthetic skills.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357163816 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Stories encourage children to enjoy language learning and foster their
1) appreciation of literature.
2) forms of language
3) life skills.

4) kinaesthetic skills.
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357163817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who said that children are biologically programmed for language and that language develops in the child in just the
same way as other biological functions develop.
1) B.F. Skinner
2) Noam Chomsky
3) Lev Vygotsky
4) Jean Piaget
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357163817 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who said that children are biologically programmed for language and that language develops in the child in just the
same way as other biological functions develop.
1) B.F. Skinner
2) Noam Chomslky
3) Lev Vygotsky
4) Jean Piaget
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357163818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct about teaching grammar effectively?
1) Present the form in genuine communication
2) Elicit relevant rules of grammar in contexts.
3) Provide the form in practice in real life-like communication
4) Learn grammar by memorising its rules and through drills.
Options :
1.1
2.2



3.3
4.4

Question Number : 116 Question Id : 953357163818 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT correct about teaching grammar effectively?
1) Present the form in genuine communication
2) Elicit relevant rules of grammar in contexts.
3) Provide the form in practice in real life-like communication
4) Learn grammar by memorising its rules and through drills.
Options :
1.1
2.2

3.3
4.4

Question Number : 117 Question Id : 953357163819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following should be mastered to acquire literacy?

1) Phonological awareness and fluency
2) Sight vocabulary and pattern recognition
3) Decoding and language comprehension
4) Accuracy and phonological comprehension
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357163819 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following should be mastered to acquire literacy?

1) Phonological awareness and fluency
2) Sight vocabulary and pattern recognition
3) Decoding and language comprehension
4) Accuracy and phonological comprehension
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357163820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The use of technology to enhance language learning process is called in education.
1)IT
2)ICT
3) Informative technology
4) Communication technology
Options :
1.1



2.2
3.3
4.4

Question Number : 118 Question Id : 953357163820 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The use of technology to enhance language learning process is called in education.
1)IT
2)3CT
3) Informative technology
4) Communication technology
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357163821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A scoring guide used to assess the students’ learning is known as
1) rubrics
2) checklists
3) inventories
4) rating scales

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357163821 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A scoring guide used to assess the students’ learning is known as
1) rubrics
2) checklists
3) inventories
4) rating scales

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357163822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Grammar-Translation Method lays more stresses on
1)y Accuracy
2) Fluency
3) Appropriateness
4) Pronunciation
Options :
1.1
2.2
3.3



4.4

Question Number : 120 Question Id : 953357163822 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Grammar-Translation Method lays more stresses on
1) Accuracy
2) Fluency
3) Appropriateness
4) Pronunciation

Options :
1.1
2.2
3.3
4.4

Language 11
Section Id : 9533575687
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9533579869
Question Shuffling Allowed : Yes

Question Id : 953357163823 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 953357163824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g Rer & 8 F............ FET FTAT T
1. SErT
2. HTeel
3. 3
4. foeaH
Options :
1.1
2.2

3.3
4.4

Question Number : 122 Question Id : 953357163825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



1. ET&UT 9T & daf W
2. Fcal ¥Rd & Yoh TN T
3. @ Tl e TuEt
4. oETseT W TUTAT W

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357163826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

dorgeT & forw 3o o sitwelw aqor A A 2

1. 9feaar
2. el
3. ==
4. &=

Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 953357163827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SOgET % TEY H FIA-TT U T AL &7
1. =ESr gfeqar FiFT HT TH G 2T 2
2. TEHr IS 10 ¥ 15 Hew 2 &
3. =¥ OF TS WX o IaNAT S WehaT B, STEr

HeT JeT F 39S &
4. =EHr ofeqar 3R T Y &Y TT oY Er £
Options :
N
2.2
3.3
4.4

Question Number : 125 Question Id : 953357163828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. SfaaErer

2. uTdTh

3. #ATaaT=h

4. cOFdaras
Options :

1.1



2.2
3.3
4.4

Question Number : 126 Question Id : 953357163829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

JeIgeT FT oI BT &
1. #A, FFET T2
2. 9del, FIX TaE]

3. AR, FoR TIER
4. I, FET TGR
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357163830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘qUifede F wATE &-
1. gaeed
2. gfae
o dcgey
4. oIt
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357163831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. sga Hferes Tt
2. =gd s Iur
3. 99A H 3a-=EE
4. sga 3fee &5
Options :
1.1
2.2

3.3
4.4

Question Id : 953357163823 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



forafof@a ey # Teat 90 T ¥l & Hed 39gFd Scal ard
e &1 giaw

JOIGRT 3T U HT Heholl &7 &1 RS H ol a7 el a€dT H A=
& ¢ Tadd e #1350 HieX d% H 39S AT SE H d@ w Her
JaT &1 SHE W & IF AeT AT # AR IfE ang # of Fear 1 s
29T & ITEFET-3TFT TATAT 9T TUT TIT-37619T STWT3it F 37eTer-3rereT At &
ST AT g1 {E, 3E T ai9em #F 3W 3 Fga &1 T fFer F sue
ATH S%oT g1 TOATT BAT H Ael AT 7 7 Fgr ar g1 91a +
o A AT T T Tl W RS g 3R VW TYEr W oeft Femar S
TehaT 8, ST 3T F&T Al 39T AT Tohdd 8| 91 H J9HAA H 3aR-798F
e A I’gT &HAT A g1 7@ 7 fEh dftwmw @ 48 B afcwmw
T% W AGA T H AT g HR HIAT FHE AT g1 57 gar Hr
391 10 ¥ 15 AT IF a1 kot g1 Fi-Faly 18 HeT I 39 s
T & e s #1 a & ger 3o Aer A6 @ 1 a9 g8 & o
3 sEdr amEmst 7 3TATaETst fr o A, FET 9K 2| 21 I8
TS ¥ Ated # qf Re iede @ e § R B 5w 9w it a3
afeqar 3T ST g1 Serget B Tl HR A% afcaar wEe HR THEER
geal e forw gt 81 aegsT F 9 F o sue Telr e swef
g % @ 2l

Sub questions

Question Number : 121 Question Id : 953357163824 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g Rer & 8 F............ FET FTAT T
1. SErT
2. HTeel
3. 3
4. foeaH
Options :
1.1
2.2

3.3
4.4

Question Number : 122 Question Id : 953357163825 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



1. ET&UT 9T & daf W
2. Fcal ¥Rd & Yoh TN T
3. @ Tl e TuEt
4. oETseT W TUTAT W

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357163826 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

dorgeT & forw 3o o sitwelw aqor A A 2

1. 9feaar
2. el
3. ==
4. &=

Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 953357163827 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SOgET % TEY H FIA-TT U T AL &7
1. =ESTr gfeqar FiAT HT THFST 2T 2
2. TEHr IS 10 ¥ 15 Hew 2 &
3. =¥ OF TS WX o IaNAT S WehaT B, STEr

HeT a7 A 3973 &
4. =EHr ofeqar 3R T Y &Y TT oY Er £
Options :
N
2.2
3.3
4.4

Question Number : 125 Question Id : 953357163828 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. SfaaErer

2. uTdTh

3. #ATaaT=h

4. cOFdaras
Options :

1.1



2.2
3.3
4.4

Question Number : 126 Question Id : 953357163829 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

JeIgeT FT oI BT &
1. #A, FFET T2
2. 9del, FIX TaE]

3. AR, FoR TIER
4. I, FET TGR
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357163830 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘qUIfE # AT -
1. gaeed
2. gfae
o dcgey
4. oI
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357163831 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. &gd Hferes Tt
2. =gd s Iur
3. d9HAE H 3a-=eE
4. sga 3fee &5
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 9533579870
Question Shuffling Allowed : Yes

Question Id : 953357163832 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension

ffefaT weamer # 9e I T weAr (39 FE 129 A
135 @%F) & FIH IIGFT 3ok I e a1 e
TR T i AR s m = f g ar
10T A 3ol & A € §F FEA-SEHIFASS B & AT 3ok
ta ¥ 3T ¥ ggo H oea &9 B, ST AN SEd @ &
sfafafer & fow smeeges 81 gAY T@eeT & @ g e
$r e F FFANOT gl S @ T IT gH Fooarars
TTdr g ofee o defeed wrAfOeRar off 1@ g, s8H -l
o Heg Fe B A T g1 T ;M I HE-AE T g
e = TEE 39w FUl W IS oF ar A mfRe @
IS T F O AT OF TEEY @A @ S AE 9eg
FT o g1 BT BT T@T A & gAN A FF G A o
gm?[mm%ﬁ:wmmﬁﬁmaﬁrﬁgmﬁﬁ
e HOF Teaaa gar § FS ey 7 & Ty A HR
TEY FAS AR FEY 3 H WA w7 FAY gl Fhoad
et e @eT H9ar S ar Io @eg g ofee mEe 3R
G F FG Tel Herd| HAUSI TERT F Gelgy HaSd & aX H
T2 Riad, 79 3R goa X ThaT § S FY & e, e g
U ¥ Haa @ R ww & s wew @ w e
Zara 7 &

Sub questions

Question Number : 129 Question Id : 953357163833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Wy R | AR e B
1. FET P W
2. FeER & W
3. foemer gaft =
4. Fat #r T W
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 953357163834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gAY Siew $r geaT A g i
1. g&i & geer «w
2. B gal W
3. eI & W
4. 3ITEA W



Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357163835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TITY 2T Fr TAT FT TFaT g I

1. T8y o+
2. T A
3. TEEY &
4. FEET B

Options :

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 953357163836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS e Fr e F
1. g Rt & g7 @
2. de AT FeT | T @l
3. gfear & it 93t & T F

4. FAT-TAT T AT o
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357163837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

J&T Fr GHTTEET AL e-

1. gH
2. d®
3. 99
4. 3rel

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 953357163838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



WY A4 W ¥ e ¥ 3#0e geua ¢
Foife
1. 9T A7 TETJ TATH T 320 &7 FAOT FHar
gl
2. TE9EY A4 ¥ " ¥ f¥EEs w57 g
gl
3. TEES A H HcHATIEH 38w gar g
4. T=Ey A9 T Fr 9@ FEF Far 2

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357163839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

STAIOTeRaT 1 39gFa e &-
1. STAUT+ T+ ar
2. YTHATOIR+ar
3. YHOT+ T&H+ T
4. gAMOS+ ar
Options :
1.1
2.2

3.3
4.4

Question Id : 953357163832 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



e ez # 9ew 9T T FeAr (997 FE 129 A
135 &%) & T 39T 3ok T e 1 =T

R I Ewdid R s fhm figFga
10T A 3kl ¥ HA § FH FEA-SSHFASS OISd ¢ AT Se¢
ta § 3R T gger H s &9 §, S AN SEd i &
fafafer & T amews 31 g T @1 @ g sedee
$r ueleddl ¥ FFWMOIS g1 el & Tg 919 gH Fooareilen H
TTdr & ofee a7 defeeE wAUeRar off T@dr g, 5HH Tea-ew
o T FIA B ISEY AL Fl EH A HIR HTE-ITH @ el
8T F FEE FuF FuF w For oF O [f¥mm afFv ==
IS TEELT H S THT OF TEEY  T@e HT ST AL 9eg
HT A g1 RN BT T@TW A & gAN AT FF gw m A o
3T | FeT A § T UH TR A gAR @ e |
FE HUF Tegad @ § FfF =Ry 79 & Ty A R
TWEY A AR T 5 # WA wA H wEY § Fhead
for=mt arer @eT AT SEd ar Tem "eha g Afgd maEe 3k
G F FG Tel Terd| FAST TERT F ey HasT F I A
TEr RIae, Fa4 3R G F TohaT & S TT F e, AT T
vsEs ¥ HgEa @ 3 T B o vew w own amfEw
& 7 &l

Sub questions

Question Number : 129 Question Id : 953357163833 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT TETERT fFE W T aar 27
1. T9EY gt W
2. HoER &I W
3. foemer gat W
4. F&r Fr TS W
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 953357163834 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAN Sfaw $r geaT AR & I
1. g&if F gEr |
2. B gl W
3. ¥eT g&T W
4., FI9aA W
Options :



1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357163835 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TIEY &9r Fr AT 5T TFaT & I

1. Ty o
2. T A
3. TEFy ga
4. TTTT BA

Options :

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 953357163836 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TIET @ T AT ¢
1. s =W & gy @
2. @ R A & T @
3. gfear & el 93t #r & FT

4, FAT-TAT 9 AT oA
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357163837 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

J&T Fr TITIEET FALT 8-

1. gx
2. d®
3. Uey
4. 3Iret

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 953357163838 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



WY A4 W ¥ e ¥ 3#0e geua ¢
Foife
1. 9T A7 TETJ TATH T 320 &7 FAOT FHar
gl
2. TE9EY A4 ¥ " ¥ f¥EEs w57 g
gl
3. TEES A H HcHATIEH 38w gar g
4. T=Ey A9 T Fr 9@ FEF Far 2

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357163839 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

STAIOTeRaT 1 39gFa e &-
1. STAUT+ T+ ar
2. YTHATOIR+ar
3. YHOT+ T&H+ T
4. gAMOS+ ar
Options :
1.1
2.2

3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 9533579871
Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357163840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HIOF IR HATaT R i & dovw ==t ¥ Ty 3T G-
1. Fear s i Fvwor RefEa &= J FEaar s 2
2. 99 F QA [ & a9 AW HEE F SiEe a9 g
3. FIS FH FAMUIG BT J& Far gl
4. o7 F Yol SIRT S== HT 3% O $HT 94 T F TWEraaT w2

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 953357163840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e g WA ot ifafafer & gons s=at & @ T G-

1. Fesgar s A Fuwor REfEa #= # Feaar S 2

2. I ¥ W W} & IF A9 HIH Fr S a9 £

3. FIS FH FAMUIG BT 9g Har &l

4. #TNT & Well ZIRT == H 3% W FH H9 W@ F TATT Fr 2
?pltlons.
2.2

3.3
4.4

Question Number : 137 Question Id : 953357163841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IfE T=2 39 HT-IE & AT GoAd &, A &7 H9C GoAS F Tg FHFGAL...
1. o= & If=g @
2. aﬁﬁmqgam?m
3. el ofr arg v &7 +eem
4. IREEEF ® ¥ 10T HEM

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357163841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ifg T=2 39S -9 & AT g €, a1 & HIIC g T IE HEAL..
1. == = = @
2. aﬁﬁwqgam?m
3. fordr off atg venfaa =& FEm
4, IR T H 9T SET

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357163842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fT=ofla # & o=31 & oW foerra &1 79 3T0% Aga Ul T8 &
1. 39 9T & HTa Herar
2. 3H AN H TANT U IHEUTH FHLAT
3. 3Tt # guw
4. FTTF D FAFAT FLA
Options :

1.1
2.2




3.3
4.4

Question Number : 138 Question Id : 953357163842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=T & & o=91 & 9w owa & Tae 30F Aga Ul T8 &
1. 3 AT & JFET Fe=r
2. IH AT H YT TF HEUTH FAT
3 gﬁ'ﬂ?ﬁgﬂnm
4. TTEHT F THT FA
Options :
1.1
2.2

3.3
4.4

Question Number : 139 Question Id : 953357163843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

forgeT dme & $RE FE (TBrfee ) T Hgcaqot RoT § i T= 9w =1 §
1. o9 &F & 3= 991 o1 98« 9o3r 36 G ¥ weg vF W ormw &
2. ¥ forw foegl o 31 T 1
3. g, forget vd e A7 A o gAy faaw &

4. FUEFRT #T FAFel Fl &7
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357163843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

forger draw § $Ra e (TFfea) ve Fgayer =oT § F=ifF a59 999 WA &-
1. 59 9 ¥ 3= 9F 1 9 98 39 T ¥ @ v MW ormw #
2. 39« forw Bl @ 3 T &=
3. g, fowet w3 = 77 A o wAy faw w=

4. FIEH T AFT T F
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357163844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ffafEe & & #law s 78 2
1. orEE 3t 3w s @ = 2l
2. 9@ TR & HfEeaEa B
3. g F1 a9y FEe W e e g

4. e & 38 B
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357163844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T & & #law s T8
1. oEE 3t 3w s @ = 2
2. o@a IRt & sfEeaEFa g
3. g & acud FrEe W oo e g

4. @ T 3 R
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357163845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T HW F GHEIS FF Flora F &Fomm 1 ggEr 39m)
AT

L H

2. Srear

3. g5d o@d
4. 9gar

Options :

1.1

2.2

3.3
4.4

Question Number : 141 Question Id : 953357163845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Y T ’W F GH-IIA hE Hiee F &G F ggEr a9
geteT

L q

2. Srear

3. g&d oEd
4. 9gaT

Options :

1.1

2.2



3.3
4.4

Question Number : 142 Question Id : 953357163846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g TR R Rl wt Reges # 309 o & a9 F ggem e F=@e
1. g 3o ReTur-3Ttem afhar & agsnfar & sereem)
2. Tacgmendr g dr@aT FH AgcT AT 2
3. T Tagmmerdr g # AT A #r §URT F=ar
4. TE T # TN & FgET & B

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357163846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

S TR W Rt #t Regen # 396 ov & o F gger aike &k
1. Tg 3Fr Perr-afEems ufEar & ggantar Fr g
2. Tacmmerdr s @ FH AgcT [T B
3. IF g g # av A F  9RdT w1 2
4. TE FEW F IO T FgEr & B

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357163847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Taeamom & et e # Remit F ax & s F 3w e
1. TRt 9T 5T serar 2

2. wefr & v 3ifoe gpfas w9 aamEer g

3. g@em HfUEw e F GUR F 9gET &

4. X ¥ Regew # Hes WEAS H TH7ad T g

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357163847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Taeamom & et e # Remit F ax & s F 3w e
1. TRt 9T Si%F serar 2
2. wefr & v 3ifoe gpfas w9 aamEer g
3. g@em HfUEw e F GUR F 9gET &
4. X ¥ Regew # Hegs WEAS H TH7ad T g

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357163848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TITcHF TR old a:rama%&:rwé‘?
1. F9afed § U L)
2. U TS F HeUUA F YA H fagmefl F wEe o w7 A S TG
3. fRwesor va Renfiat & sftem & gur &g Taandt & wrg F 3079 X 1 Tou=a F
4. 3UARY F AT FAT WH IOl TS HET

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357163848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT Mol 1 HET 3027 T g7
1. Fuafed # U =T
2. Uw TS % IS H YA H faganff # gEe W 27 o ws g e
3. fRweor w3 Refidt & aftes & gur &g Reardt & ars F T977 T 7 qouea S
4. 3USTN F ATGA FIAT TIH  T0TEcAT TS FLT|

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357163849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafey oRfFufemt # s &7 39ged va T 39T F & T g ERTEAr B
1. a0 & HIAT F FET
2. Ycdeh OO 9¢ @ IRETET A H
3. TUTHIOT & 9ia SIS CUTT Hhicgd Flad |
4. WEET & IFFEN TR0 & FIART G &1 & F

Options :
1.1



2.2
3.3
4.4

Question Number : 145 Question Id : 953357163849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafae oRfEufoml & &1 #7 39ged va T 39T F & T gH FERTHAT B
1. =areRteT & RTAT Fr JEE w7
2. Sols SO € HI TRETHT AT Hi
3. TUTIUT % Yiq SHIEYd O Shiegd o |
4. HE F AN AU & 39ART T/ &0 & H|

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357163850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

BT # ¥ FI9-9T FUF A9 HT F&T7 * T FEr 7@ 27
1. F&T H 33 W AR F a9y § & Rremedt sfoemm & anfae 71
2. wH nfla AT g g S et e 35 § 3 R s=or 9w w E
3. Fas Fa, THE 6, TSN FAT TE T FHAT FET FI AAETT H TeAIA B adeh gl
4. % R Rl & & Farr W gfFer FEe FEar @ e gl

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357163850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=BT # ¥ FI9-97 Fua 919 #7 F&7 F AT FEr T@r 27
1. F&T H 33 W AR F a9y § & Rremedt sfoem & anfdes 71
2. wH nfla AT g g e et e 33 § 3 R o 9w w E
3. Ras Fa, THE 6, TSN FAT TE T FHAT FET FI AGETS F TAIA B F aeh gl
4. & R R & & et W qHe fEE &Eaa ¢ &=Edr el

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357163851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TATRIOT & HFATH-
1. e ¥ IFEN g =MeT
2. SEe-37Hq@ g =T
3. qotEEr w7 & g =fRw
4. T W Figa g= Tfgw

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357163851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TATRIOT & 3H3UTH-
1. Heo ¥ IFEN g =eT
2. SEa-37H@ g =T
3. O §9 Hied g =Amev|
4. & W Figa g gl

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357163852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T # § #ia-71 & A IR @ G T4 2-
1. 38 §%97 Si=H o § 99 38 o & Ay dewar 74 @ 2
2. 7= oW Frpfa & o7 o €, 30% HgEr ¥ R 5% ¥ e Rt oy @ s S §
3. T AfeT = Fr 4@t AT IETar e gl
4. T=H HFRIcH® JASe & 3c91G & &9 & 1 HEd gl

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357163852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e & @ Fla-71 v A SFEr g g 9 -
1. SI9 %97 SoH ol § 99 38E ST A gfAudr dewar e §
2. a=o O FEpia A FH o §, 38 AR § Rffes gl ¥ vd Rifes oifg & a1 @ &)
3. T HAT A BT AGEE AFST AT gar gl
4. T TFERICHAS TG0 & 30718 & & F o197 T F

Options :
1.1



2.2
3.3
4.4

Question Number : 149 Question Id : 953357163853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT Tafer geer 2 -
1. oy el ¥ gy grHeEn

2. Ffea ¥ Bfa==

3

. oRfEIT & 3mitfa
4. 3 F A
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357163853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT Tafey oeer 2 -

1. o TEET o gohr FIEET
2. Afee ¥ Rfde=s
3. IRfaa & 3aftf=a
4. FET E A
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357163854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

v et Remfat & 39ar ool @ W@ ¥ o € # IuHEer & 3eR ows F O wadr 8 sgar
¥ =m ofafafer & 37 &

1. a7 H FrErET afFer Hr garEr )

2. 3AH % U T gt H HaT Fr gHS S

3. 3% FEATACHS Sl & ASqd L=

4. ©T & MG T AR A geTaTT|
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357163854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



v et et &t sva 9ot @ | & ofr ¢ & auviEer & 3R s & B Fdr g s
¥ g Tfafafer @ =T

1. e & Freag afEer Fr geEr &

2. 35 HF U T gt H a7 Fr gHS T

3. 3% GERICACHF FRMET FH AT FLAT|

4. T & oFMT § 3T eI gera|
Options :
1.1
2.2
3.3
4.4



